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(a) Scientist¢ search for new plant species. An ideal discovery would be a
plant with several potential uses. The diagram below shows such a
plant.

Scented flowers with
brightly coloured petals

Strongly coloured, small
berries with a bitter
flavour

Coarse leaves with tough
fibres

Swollen root

The swollen root could be investigated to see if it could be a valuable
food source.

Select one other part of the plant and describe a different potential use
for it.
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(b) Name each of the following forms of carbohydrate found in plants.
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	Name
	

	Teacher
	

	Homework
	Date Due
	Comment

	1: Introducing Plants 1
	
	

	2: Introducing Plants 2
	
	

	3: Growing Plants 1
	
	

	4: Growing Plants 2
	
	

	5: Growing Plants 3
	
	

	6: Making Food 1
	
	

	7: Making Food 2
	
	

	8: Making Food 3
	
	


HW 1:  Introducing Plants 1
1.
(a)
The list below names some plants used by humans.


Poppy
Pine tree 
Foxglove
 Potato
Jute

Wheat

Complete the following table by selecting two plants from the list and giving one different use for each plant.

	Plant
	Use
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(b)
The table below shows the percentage of some trees found in British forests in 1978
	Tree
	Percentage

	Spruces

Pines

beech

Oak

Other species
	30

20

5

15

30


[image: image11.emf][image: image12.emf]Use the information from the table to complete the following pie chart.
2.
No one plant provides mankind with all the essential requirements for a balanced diet.  Why is this not a problem for man?
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3.
Apart from providing man with a varied diet, state one other way in 
which man benefits from a wide variety of plants.
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4.
Clearing of rainforest plants seriously damages the ecosystem of native animals.  Describe two ways in which animals may be affected by rainforest destruction.
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5.
Explain why it is vital that a “genetic storehouse” is maintained for the future of mankind.
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6.
What is meant by the ‘potential use of plants or plant material’ ?
	

	


7.
State two potential uses of plants or plant material.
	

	


8.
Give an account of timber production in Scotland, from preparation of the land to transport of felled timber
	

	

	

	

	




HW 2:  Introducing Plants 2
1.
The graph and the key below refer to practices in the management 
of forests of conifers in Scotland.

Use this information to answer the questions that follow.


(a)
How many times was the crop sprayed with pesticide?

	


(b)
How many different types of management practice were applied to 
the forest during the first 20 years of growth?

	


(c)
In which year did the costs equal the returns?
	


(d)
Give an example of the type of site improvement that might take 
place at year 3.
	


(e)
Suggest a reason why weeding and thinning out weaker improves 
the quality of the remaining frees in the long term.

	


2.
Worldwide, scientists search for new plant species.  An ideal 
discovery would be a plant with several potential uses.


The diagram below shows such a plant

The swollen root could be used as a source of food.  Select one other part of the plant and describe a different potential use for it.


(i)
Plant Part
	

	


2.
(continued)

(ii)
Potential use
	

	




HW 3:  Growing Plants 1

1.
The diagram below represents a section through a seed
(a)
Complete the table by writing the letter, name or 
function of each structure.
	Letter
	Name of Structure
	Function

	B
	Seed coat
	Tough protective outer covering

	
	
	Source of energy and raw materials

	
	Embryo
	


(b)
The graph below shows the yield of wheat when the number of 
seeds sown per square metre was increased.

(i) State the number of seeds sown per square metre which gave the maximum yield.
	



(ii)
When 800 seeds per square metre were sown, the yield was only 
3.5 kg/m2.  Suggest a reason for this yield.
	


(c)
The table below shows world crop production in 1970 and 1972.
	Crop
	Production (million tonnes)

	
	1970
	1972

	Wheat
	264
	457

	Maize
	219
	285

	Potatoes
	275
	285

	Vegetables
	202
	421

	Citrus fruit
	140
	326

	Total
	1100
	2000



(i)
Name the crop which had the highest production in 1972.

	


(ii)
Which crop shows the greatest increase in production between 
1970 and 1972?
	


(iii)
Calculate the production of potatoes in 1970 as a percentage of 
the total crop production in that year.

Space for calculation

	
	%


2.
A bean seed germinated and grew a 
root.


The root was marked with ink at 3mm 
intervals.


The diagrams below show the bean 
when it was first marked and 48 hours later.

(i)
What was the increase in the root length during the 48 hours after it 
was marked?

Space for calculation

	
	mm


(ii)
Which one of the following statements correctly describes the 
growth of the bean root?
Tick the correct answer



Growth takes place equally along the length of the root.


Growth takes place at the tip of the root.


Growth takes place in a region immediately behind the root tip.



Growth takes place from the part of the root nearest to the bean
3.
Describe the effect of varying temperature on the germination 
rate of seeds.

	

	


4.
Explain why temperature affects germination rate.
	

	



HW 4:  Growing Plants 2

1.
Read the following passage and answer the questions which follow.
Brightly coloured flowers are a plants way of advertising.  Many different kinds of animals are invited to feed on energy rich food at these floral ‘filling’ stations.  In return these animals carry important packages to often distant destinations.  Most of us think of insects in this context, but there are many examples of other more unusual species being involved in this convenient relationship - bats, mice and monkeys to name but three.  However, many confuse the activities of these animals with seed dispersal.  If is true that many insects and mammals aid plants to disperse their seeds, but the two processes are quite different.

(a)
Which important plant reproduction processes are being compared 
in the passage?
	
	and
	


(b)
What other method can be employed by plants to attract insects 
and other mammals?
	


(c)
What plant structures are described as ‘important packages of 
information’?
	


2.
The following diagram shows a section through a flower.
 Complete the following table which relates to the flower diagram
	Name of structure
	Function
	Letter

	
	produces the male gametes
	D

	sepal
	
	A

	stigma
	receives the pollen grains
	




(b)
Name two possible methods of pollination used by flowering 
plants.

	
	and
	


(c)
Identify the site of fertilisation in the flower by naming the structure or its letter from the diagram.
	


(d)
The boxes below show the names and descriptions of some important processes in plant reproduction. 

Draw a line to match each statement of the named process on the left, to its correct description on the right.

	Names of processes
	
	Descriptions

	
	
	

	asexual reproduction
	
	Seeds start to grow

	
	
	

	pollination
	
	Pollen is transferred from anther to stigma

	
	
	

	germination
	
	Development of the ovary around the seed or seeds

	
	
	

	fruit formation
	
	Production of identical offspring from a single parent


(e)
(i)
Name one method of natural asexual reproduction used by 

plants
	



(ii)
Name one method of artificial propagation used with plants.
	


(f)
State one advantage of asexual reproduction in plants and give a 
reason for your answer.


(i)
Advantage
	

	



(ii)
Reason
	

	


(g)
State one advantage of sexual reproduction in plants and give a 
reason for your answer.


(i)
Advantage
	

	



(ii)
Reason

	

	




HW 5:  Growing Plants 3

1.
The following table gives information about some common plants 
and their fruits or seeds.
Use this table to complete the table below, by ticking the correct boxes.
	Plant
	Method of Pollination
	Method of seed dispersal

	
	Wind
	Insect
	Wind
	Animal

	Bramble
	
	
	
	

	Thistle
	
	
	
	

	Oak
	
	
	
	

	Ash
	
	
	
	


2.
Describe TWO structural differences between a wind and an 
insect pollinated plant.
	

	


3.
Construct a statement explaining fertilisation in a sexually 
reproducing plant. Your answer should include four mainstages.

	

	

	


4.
What does the ovary develop into after fertilisation?

	


5.
What does the ovary wall develop into after fertilisation?
	


6.
Explain why pollen is light and smooth and is produced in much 
greater quantity in wind pollinated plants than in insect pollinated 
plants.
	

	


7.
What is meant by the term ‘clone?
	




HW 6:  Making Food 1

1.
The following statements refer to photosynthesis.


1
Oxygen and water are the raw materials.


2
Light energy is converted into chemical energy.


3
Carbohydrates are produced.

Which of the statements are correct?

	


2.
(a)
The diagram below shows an investigation into the effect of 

carbon dioxide concentration on photosynthesis.



Destarched plants were placed in flasks containing liquids as 

shown as shown.


After 24 hours in well lit conditions the leaves were tested for starch.
(i)
Complete the table below to show the results of the 
experiment.

	Leaf
	Starch present

(  √ or X)

	A
	

	B
	


(ii)
Name two factors which must be kept the same for A and B.

	

	


2.
(continued)

(iii)
How should the apparatus shown in the diagram be improved to 
make sure that the experiment is valid?
	


(iv)
In what other way could the result of the experiment be made 
more reliable?
	


(b)
Another investigation was carried out on photosynthesis.  The 
experiment was set up as follows:
After some time, the leaf disc floated to the surface.  The disc floats up, because bubbles of a gas are produced by the leaf.

The time taken for this to happen was measured.

The experiment was repeated five times.  The table shows the results.

	Trial
	Time taken for leaf disc to float (seconds)

	1

2

3

4

5
	5

8

12

6

9

	Average time
	



(i)
What was the average time for the leaf discs to float?

	
	seconds


2.
(continued)

(ii)
Why was it good experimental technique to repeat the experiment 
5 times?
	


(iii)
Name the gas being produced during this experiment.
	


(iv)
Name the green chemical which converts light energy to chemical 
energy in the leaf.
	


3.
(a)
The diagram represents a plant carrying out photosynthesis.



(i)
Name gas X which is required for photosynthesis.

	



(ii)
Name the pores on the leaves, through which gas X can enter.
	


3.
(continued)

(c)
Name the chemical made from glucose, which is stored in the leaves.
	



(d)
The transport of substances in the plant is shown by        arrows in 
the diagram.

Complete the table below with the correct information.
	Transport Tissue
	Substance carried
	Part of plant from which substance is carried

	
	
	Root

	
	Sugar
	Leaves



HW 7:  Making Food 2
1.
The diagrams show two types of structures found in plants.
(a)
Which structure is involved in sugar transport?

	


(b)
Xylem helps to support a plant. State one other function of xylem.
	


(c)
In which structure would lignin be found?
	


2.
The effect of carbon dioxide concentration on the growth rate of 
plants at 100C was investigated.  Identical groups of plants were 
grown in different concentrations of carbon dioxide for 30 days.
The plants were then collected, heated at 1000C and their dry mass recorded.  The table below shows the results.

	Concentration of carbon dioxide (%)
	0
	0∙03
	0∙06
	0∙09
	0∙12
	0∙15

	Gain in dry mass (g/day) at 10OC
	0
	0∙1
	0∙18
	0∙26
	0∙3
	0∙3


(a)
(i)
Why was the dry mass of the plants measured, rather than 

the gain in fresh weight?
	



(ii)
At concentrations above 0∙12%. carbon dioxide was no longer 

a limiting factor in the growth of the plants.  Suggest 


another possible limiting factor
	


(b)
(i)
Name the layer of closely packed cells which carry out most 

of the photosynthesis in a leaf.

	



(ii)
What feature of the internal structure of a leaf allows 


carbon dioxide to diffuse from the stomata to the 



photosynthesising cells?
	


2.
(continued)

(c)
The diagram below shows the fate of the carbon dioxide used in 
photosynthesis.  Complete the diagram by naming each of 
the 
carbohydrates described.


HW 8:  Making Food 3

1.
(a)
(i)
Complete the following table relating to gas exchange in 



plants.
	Structure
	Function

	
	Allows carbon dioxide in and oxygen out of leaves

	Guard Cells
	

	
	Allows water vapour out of leaves


(ii)
What process in the leaf results in the formation of water vapour?

	



(iii)
Plants retain some of the oxygen produced by photosynthesis for 
what process?

	


2.
Describe two features of the external structure of a leaf 

which make it good at carrying out photosynthesis.
	

	


3.
(a)
Identify parts A - F in the following leaf diagram.

	Letter
	Structure

	A
	

	B
	

	C
	

	D
	

	E
	

	F
	


(b)
(i)
In which area does photosynthesis take place?
	




(ii)
Which area allows gas exchange to occur?
	




(iii)
State one advantage of area A being single celled.
	


3.
(continued)

(iv)
Areas E and F together form what important part of the 


leaf transport system?
	

	



(v)
Describe how a leaf could be tested for starch (include 


reasons for carrying out each stage)
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KEY TO MAMAGEMENT PRACTICES





SI = site improvement


PS = pesticide spraying


WE = weeding


UT = unmarketable thinnings removed


MT = marketable thinnings taken and sold


MF = mature forest felled and sold
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